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2.1
1) V200 =100x 2 =100 x /2 =102 =10 x 1.41421356--- =---

@) 20 =4x5 =4 x5 =245,
V320 =/64 x5 = /64 x/5 =85

72,
V20 ++/320 = 24/5 + 8/5 =107/5 =10x2.2360679--- = [22.360) -

2.2
M 0*=[0],12=[1] 22 =[4], 32 =[9], 4* =[16],5* =] 25], 6* =[ 36], 72 =[ 49],
8* =[64],9* =[81],10? =[100], 11* =[121], 12* = [144], 13* =[ 169, 14* =196, 15 =[ 225 |,

167 =| 256 |, 17> =| 289 |

@ O 12=[4x3][=2x3] (i) 63=[9x7|[=3"x7]
(i) 96=[16x6][ =4*x6] (v) 108=[36x3]|[ =6x3]

Q) () 12=+4x3=|243 () 63 =v9x7=|3V7
(i) 96 =16x6 =|4/6 (v) 108 =/36x3 =|643
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) 2 ++3=1.41421.+1.73205-.. = 3.146 - 72D C.
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2.5
1) V3+/3=1+DV3=|2V3

@ -TV3+93=(-7+93=|2V3
B) —TN3-9V3=(-7-943=|-16\3

- J3
@ phi-plelp-ge-tte-ph -
G) N7+3+2V7 =B+ 1+ 27 =[3+3V7
6) V5-4-2/5=1-2~5-4=|-5-4

R12.6

1) V2+8=v2+242=1+2:2=]32
@ 3+12-v27 =3+2V3-3V3 =(1+2-313 =0x/3=[0]

3) /20 27 + 148 =25 - 33 + 43 = 25 + (-3+ 43 =| 245 ++/3
@) 218 +/49 —/32 =2x32 + 742 = (6 - A2 + 7 =| 242 + 7

6) V8(V54 —12)-27(V25 -/98) = 242 (36 - 24/3) ~ 34/3(5 - 74/2)
= 22 % 3V6 — 242 x 24/3 = 343 x5 - 33 x (-742)
=6x[2x[2x3-4y6 -15V3 +21//6

=6x243 - 4V/6 -15V3 + 216
—(12-1513 + (4 + 216 = | - 3/3 +176

Ri2.

V12 =4 x3 =243, V27 =J9x3 =343, V48 =\[16x3 = 4/3 2D T,
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—1043 =107 x 3 =+/300
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